MPM 1D0 Semester 1, 2013-2014
Grade 9 Academic Math
Unit 1 Makeup Test — Number, Sense and Algebra
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Terminology (10 COM)
1. Match each term or equation in the left column with the bes? definition or description in the right column.

B \/Constant A A symbol that represents an unknown or unspecified value.
A \/élriable B7 A fixed value.
E v({e fhicient /. Any mathematical calculation combining constants and/or variables using

any valid mathematical operations.
l "{egree of a term W To calculate or compute with the objective of finding the “final answer”

L;./ﬁmation y The property used to expand the product of a monomial and a binomial.
L\/E(pression ¥. A constant multiplying the variable part of a term.

£ a (x + y) =ax+ay M. A mathematical statement asserting that two expressions are equal.
4]-_-‘:4)1ynomial ¥ An algebraic expression consisting of several terms.

lA{ Terms A7 The sum of the exponents of the variables of a term.

4&"4;13'[6 A7 Terms that contain exactly the same variable part.

Modified True/False (3 KU)
Indicate whether the statement is true or false. If false, change the underlined part to make the statement true.

2. T/F E \/ﬁhe expression “3x” means “3 beside x.” Change: 3"'].@85 y % 2
3. T/F E AThe expression “ x + 2x ” simplifies to “2x1 x= "k m“"k Change: 3% 5

4. T/F F ‘/\"lge expression “% ” means “5 divided by a number.” Change: X
Multiple Choice (3 KU)
Identify the choice that best completes the statement or answers the question. A: 27(( 3):)
5. Which expression represents the area of the rectangle shown at the right? = bx )’
(@) 2(2x)+23y) (b) 5xy 6xy (d) 4x+6y '

6.4 or 0' hich expression represents the perimeter of the rectangle shown at the right? 2x

2(2x)+2(3y)  (b) 5xy (¢) oxy x+6y 1 :
3y

7. d In which pair are the expressions equivalent?

M —54* and (—5a)2 M 3x and X’ ) a=5and 5-a a—5 and —5+a
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Full Solutions (10 COM in addition to process marks)
8. Evaluate. (8 KU)

(@) 4(2'-5")-4(2-5) N oA
(BEDMAS not distributive property!) =- LI' (-13_')("3)/ [%(‘%X‘B)] >

T-H(t-as)-A(-3) | = AED-[HEXE)

(b) —4ab® —(4ab)’,if a=~ and h=-3

= -4(-a1) -4(a) - (2]
= 84-3b .- = -12-(-4)
248 sl
9. Simplify. (17 KU)
(a) 2x° +7y—8y—6x"_ (b) (2x°)(7y)(-8y)(-6x")
— 5 5 _ —
= Ax’- :x +7y 87 v/ /!; = 2(7)(—25)[;6)(x5)(xs)( ‘/')(‘I')
= - - _ + )
Lf& x/ (._ 07 x >/'+
- G 10
Rxy
() (illzl)l4—(11n)(3n2) () -@2 —gcy@cf(?cah;) _
") 2
C Bl 1B Sl S 0
3'(v) . = - 12X 6% +Q0x -30x o~
= %'/33m\/ :_Ig‘x/l_l.o}
= EL(82)-33n°
= 323, = —29nV”

10. The area of the entire rectangle is 5x* —9x—2 and the area of the unshaded part is x*> +4x—3. Write a
Sfully simplified algebraic expression for the area of the shaded part of the rectangle. (4 APP)

As\maleal - Ae,,‘.}t‘;;f,,a]e a Aumshudecl

5P qy-A— (¥Prtx-3)
s'azn-q«_;d(-a‘;: —43+33)

> —As qx - —cA+

1.1.59-__ l%‘ x 75.

‘}+l units
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11. The dimensions of a triangle are given in the diagram to the right
(a) Find a simplified expression for the perimeter of the triangle. (2 APP)

P=4xt)43x+x+5 v~
=4x3x+ x+1+5 W .
Bx+6 units v~
x+5

(b) Find a simplified expression for the area of the triangle. (2 APP)
A=+4bh =2 gx S
= T'R(x-* "5)(37() /
= L(2)[x)(x+5)
= 2% (%+5)

(¢) Repeat parts (a) and (b) if the dimensions of the triangle are tripled. (2APP)
AN Perimeter m Arca
Ny
P= 3(thal) +33x) + 3xt5) | A= =[36esY][363%)]
= 2DC)F) N x+5)

= 1Axt3 =Ax +2x+15
= 3194(74+5)

= IAx+Ax+3x *3+15
/ 7 13> 1357, /

:a47€+‘% =

—

12. Dhanila compares the cost of two gym memberships. Gym GetRipped(Off) charges $50 per month while
m rep re.serflﬁ

Gym GetJacked charges an initial fee of $200 in addition to $30 per month
# of months

(a) Write an expression that represents what each gym charges. (3 APP)
Gym GetJacked:

Gym GetRipped(Off):
50m v~ 30 m+ 400
(b) Dhanila wants to keep the gym membership for at least 12 months. WHYEh gym should she choose?
(3 APP) =1 A
Gy Ge+Rippca|lo£f) Gywm GetTacked GDhayai a ?(Lewu ldf Choos
. d
5002) B 2%{?_});09‘5 v Shz wounld on) Y ﬂb_bﬁ
=600 _ =D ‘/ Jor 1R mont S WZI(J'I IS
= ° 240 chen 5&/\&»‘\ Gy
GetR wped (OFF) -
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